



$$(4) \quad x \begin{pmatrix} 1 \\ 1 \end{pmatrix} + y \begin{pmatrix} 1 \\ -1 \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix} \quad \text{lin. unabh.} \Rightarrow x=y=0$$

Zwei Fälle  $x=0, y \neq 0$

$$\Rightarrow \begin{aligned} (1) \quad x + \lambda y &= 0 \\ (2) \quad x + y &= 0 \\ (3) \quad x - y &= 0 \end{aligned}$$

(I)  $x=0, y=0$   $\Rightarrow$  (1)  $x=0$   $\Rightarrow$  (3)  $y=0$  so lin. unabh.

(II)  $\lambda \neq 0$   $\Rightarrow$  (1)  $y = -\frac{1}{\lambda}x$   $\Rightarrow$  (3)  $y = \lambda x$   $\Rightarrow -x = \lambda^2 x$

$$\Rightarrow \lambda^2 x + x = 0$$

$$x(\lambda^2 + 1) = 0$$

für reellen Zahlen:  $A \cdot B = 0 \Rightarrow A=0$  oder  $B=0$  (oder beides)

$$\text{so } x(\lambda^2 + 1) = 0 \Rightarrow \boxed{x=0} \text{ oder } \lambda^2 + 1 = 0$$

$\Rightarrow \lambda^2 = -1$  nicht möglich für  $\lambda \in \mathbb{R}$

$$\Rightarrow x=0 \Rightarrow (3) \quad y=0$$

so lin. unabh.